
 
 
 

SCHEDULE GR86  
AMENDMENT: GR86-25-T003 

 
 
Issue Date: 16 January 2025 | Implementation Date: Immediate     Page 1 of 3 
 
 
2024-25 Bridgestone GR86 Championship Race Series 
 
This amendment is issued under the provisions of the MotorSport NZ National Sporting Code Article 18(2) in 
confirmation that the following amendments, notices or points of clarification have been authorised to the text of  
Schedule GR86. It is recommended that in addition to retaining a copy of this bulletin, all parties modify the text of the 
regulations according to the following: 
 
 
Championship Article Amendment: 
  

1. Amend Article 9, as stated in the schedule below. 
2. Amend Article 9, as stated in the schedule below. 
3. Amend Article 12, as stated in the schedule below. 
4. Amend Article 12, as stated in the schedule below. 
5. Insert Article 15, into the schedule as stated below 
6. Amend Schedule 1 as stated in the schedule below 

 
 

1. Item One: 
 

9.0 AUTHORISED MODIFICATIONS 
 
 (…) 
 

 9.8 The Oil Cooler must be repositioned using the instructions outlined in Technical Notification GR86-
  TN#006. 
 

Reason: To help reduce engine oil operating temperature.  
 

 
2.  Item Two: 

 
9.0 AUTHORISED MODIFICATIONS 
 

  (…) 
 

9.9  It is permitted to remove the windscreen washer bottle and associated fittings from the vehicle to aid 
with the repositioning of the oil cooler. These parts do not have to be refitted. 

  
  

Reason: To provide more clearance for the repositioning of the oil cooler.   
 

 
 
 
 
 



A  
 
 
3.  Item Three: 

 
12. SPARE PARTS 

 
 12.1 All OE replacement parts and control parts shall be purchased from TOYOTA GAZOO 

Racing New Zealand. 
  

12.2 A Transmission assemblies GR86 (Part No. SU00310764) & TR86 (Part No. SU00304329)  
  will be available at events for purchase from Toyota New Zealand. To be eligible for the  
  series all such gearboxes must be identified by the application of a ‘C’ seal (as per Article 
  4.3) prior to sale/collection. These transmissions are the only ones permitted for use during 
  Qualifying and Races. 

 
 12.3 For Testing and practice sessions GR86 (Part No. SU00310764) & TR86 (Part No.  

  SU00304329) purchased from another supplier may be used. These do not require an  
  official MotorSport NZ seal to be fitted. 
 
12.3  It is permitted to use the TR86 transmission (part # SU00304329) for testing  

  purposes only. 
 

12.4  It is permitted to repair and use failed GR86 transmissions (part # SU00310764) and TR86 
transmissions (part # SU00304329) for testing purposes only. 

 
Reason: To widen the availability of transmissions for the season 
 

 
 
 4.  Item Four: 
 

12.0 SPARE PARTS 
 

(…) 
  
 12.5  Part No. GR86RACK14 – GR86 Steering Rack Spacer 14mm must be fitted to all vehicles prior to the 

 first practice session of Round 2. The must be fitted as outlined in Technical Notification GR86 
 TN#005. 

 
Reason: To ensure that the steering racks are held firm with no lateral movement.  

 
 
 5.  Item Five 
 

15.0 Wheels & Tyres 
 

15.1 It is permitted to use the Part No. GR86RIM – GR 86 Rim for testing and practice sessions.  
 

15.2 Part No. GR86RIMV2 – GR86 DTM Rim Version 2 is the only rim permitted for use in Qualifying and 
races from Round 2. 

 
15.3 The official tyre for the 2024-25 Bridgestone GR86 Championship Race Series is Part No. GR86Tyre 

- GR86 Bridgestone Tyre. 
 
 Reason: to introduce a replacement rim for the original which has reliability problems 



A  
 
  
6.  Item Six: 
 

SCHEDULE 1 CONTROL PARTS LIST 
 

  
Component Part Description 
GR86CAGEPAD Roll Cage Padding  
GR86SEATTHR GR86 RACETECH RT4100THRS SEAT 
GR86SEATSHR GR86 RACETECH RT4100HRS SEAT 
GR86SEATB GR86 Seat Bracket (Pair)  
GR86EMRM030Z M8 - 1.25P x 30 SKT Capscrew 
TR86EMH10025Z M8 x 25 ZP 10.9 HT Bolt only 
GR8605WHOZM 5/16 - M8 ZP Hardened Washer 
    
TR86FootP01 Driver foot plate 
GR86DMBM035Z M6 x 35 ZP Button Head Capscrew  
GR86DMBM012Z M6 x 12 Button HD Capscrew 
    
TR86SWheel Sparco steering wheel  
GR86SWC Racetech Steering Wheel Coupling 
TR86CMKM020B M5 x 20 CSK socket screw 
TR86SWCLIP Steering Wheel Clip  
TR86CMKM016B M5 x 16 CSK socket screw 
TR86SWB Steering Wheel Boss 
    
GR86Clutchk Toyota 86 Clutch kit 
TR86EFly Toyota 86 Exedy Flywheel 
    
GR86FBRAKEK GR86 ENDLESS Front Brake Kit  
GR86RBRAKEK  GR86 ENDLESS Rear Brake Kit  
  
 GR86RIM GR86 Rim 
GR86RIMV2 GR86 DTM Rim Version 2 
TR86WNut Wheel Nut 
GR86Tyre GR86 Bridgestone Tyre  
  
GR86FIREEXT GR86 Fire Extinguisher  
GR86BELT GR86 Protech Int Pro Harness 
GR86WBRACKET GR86 Window Net Bracket  
TR86WNET TR86 Window net 
    

 
 
(…) 
 



A  
 
SU003-00504 PLATE, IDLER PULLEY COVER, NO.1 
MS50018001 TRD Oil Filter 
    
GR86BATTERY  GR86 FULL RIVER HC28 BATTERY  
MS14318001 TRD RADIATOR CAP  
SU003-09479 GR86 COVER, RADIO TUNER  
SU003-08718 BRACKET RADIO NO.1 LH  
SU003-08717 BRACKET RADIO NO.1 RH  
SU003-08693  PANEL INSTRUMENT CLUSTER GR86 
GR86TARM GR86 TOE ARM WITH PILLOW JOINT  
GR86LOWERARM GR86 HARD RACE LOWER ARM  
83522802048 WATER WETTER (355ml)  
TR86TOEBOLT TR86 REAR TOE PLATES AND BOLTS  
GR86PNLKIT GR86 Panel washer kit  
TR86BRKPEDAL TR86 BRAKE PEDAL PADDING 2018 
  
GR86RACK14 GR86 Steering Rack Spacer 14mm 
  
GR86DASH GR86 MOTEC C125 DASH & GPS 
GR86MOTECECU GR86 MOTEC M142 ECU 

 
 Reason: to add new items to the control part list.  
 
 
This amendment is issued by MotorSport New Zealand 
 
 
 
 
 
Wayne Scott 
Interim CEO 


